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Az: o wvr sfard § it ¥ g s e e sr9x & zofd sgaw et | 3R oftm get ¥ By
60 ffz aRfw aw Ry s
fefraTey & a1 % e & wiad v affs gRa g
Fach scction is compulsory:" ‘I'he marks distribution is same as shown in the question
paper. The blind students will be given 60 minutes extra time.
University has all rights to change the distribution of marks.
W% & : TS w7 Section A : Objective Question 6x1- 6
qE: et wraAad g
All questions are compulsory.
1. wrmasb:c:dEtqrFmamy:la:b:c:d, then whichistrue:
(a)axb=cxd (bjaxc=bxd (c)exb=dxa (d) None of above.
2 dy st E v T A AET R IAST 9T, AT A A 165 ¢, g AF F 3 5w sfw § Ay A= It
I{' the sum of two digit number and the number obtained by reversing the digits is 165. If the digits
difTer by three, then the number is
(a) 36 (b) 96 (c) 63 (d) 47
3 R AMBFETIXxmATIxnEH F A AR Edim =ng ar Ww GA - 2B) FTEE FO
M
If A and B are two matrices, the order 3 X m and 3 X n, respectively and m = n then order of
matrix (5SA —2B) is:
(aymx 3 (b)3 x3 (cymxn (d)3xn
4. W%ﬁzﬁﬁ?ﬂﬁ%mﬂzx 5| = l6 _zliﬁ*x’mm*‘nn:
g8 xl 17 3 A
. . . il 2)&' 5 — 6 _2 P
If two determinants have relation, l 8 xl = 1? ’3|. then valuc of ‘x” is :
{a)3 . (b)+3 (c)}t6 (d) 6
5. @17 Siatcinent (1) logy 50 UF Yoram 747 § w4 Statement (2) logygp 10 TF TUAH F3T g 71 FT AN
A
(#) (1) 74 (2) @&
() (2) (@) 2T (1) T (2) FF 7§ 75
If Statement (1) log; ¢ 50, is rational number and Statemcnt (2) log;00 10, is irrational number then
which statement is correct !
(a) (1) and (2) (b) (1) only (c) (2) only (d) Neither (1) nor (2).
6. 35 et ¥ 9T, OF Afw A1 5 Twqa w7 FAwy geq aw grav § O Iww Ay wfqwa |y

By selling 35 articles a person gains the selling price of 5 articles, then what is the profit % :
100

(2% (b) % ©2% (d) 5%
P.T.O.
https://www.davvonline.com



NP-106

2
5x8 40

vy ¥ #IwOT ¥ Section B : Short Answer Question
Az : vt oy sfAard § 1 All questions are compulsory.

1.

X she Y, 7:5 & s & mo v g1f aled Ay wpdtare § ¢ & 7, 6 ap wfhare o 2, A e R

wa‘xa?‘iﬂmfﬂ .“;ﬂm*mm'ﬁ"ﬁft. R X 2 Y : 7 %1 A AT AT K
X and Y are partners sharing profits and losscs in the ratio 7:5. They admit 7, a ncw partner whe

acquircs -1-15111 from X and ﬁthc from Y as his share, then find new profit ratio of X2 Y 0 7.

et OR
AW Trer s Weighted 70w RifA ; Find Weighted Average of the following data :
Number : | 2 k) 4 5 6 7 8 9 10
: 2 8 10 20 25 15 12 10 8 5

Weight
Awfaf wdfteont w1 g Rwfag of x iy w1 v fRwfag
Solve the following equations and find valucs of x and y :

LI
2x 3y
1 + 1 _ 13
3x 2y 6
IqaT OR
2 +3 17
3¥TY T ;s
4 5 3
3¥t3Y =3
Rrefafam ifye A %1 ez w7 A=A : Find the determinant value of matrix A ;
-1 -8 9
A= 4 12 -7
-10 3 2
oAt OR
frmfafR e A 71 inverse R#1feT ; Find inverse of matrix A ;
7 -6 3
A=[4 -5 -
2 1 8

ATHTIT TA wEgTE AT ¥ AT AHATEY | arenfaw AT F ITH ATHAN| B ILET AT ATATLY |
Explain difference between Simnple Interest and Compound Interest. Explain applications of Simple
and Compound Intcrest in Real Life with examples. https://www.davvonline.com

371 OR
2,000 797 % 7007 97 3/2 q6T ¥ frd, 10% w2 af % a3 & sgfde w0 & §Qifore swafE sor faen

g ?

What is the compound interest to be paid on a loan of Rs. 2,000 for 3/2 years at 10% per annum
compoundced half ycarly ?

o 7 T 2 Fraa 97 3§ wiRat g OdY we o 1 20% ¥ gadd wit i 22.5% qr 97 39 Rar | 7R @F
¥ fawa # AT 150 798 § 7 9% 9 FT AT A FT ¢ 7

Mukesh bought two walches at same price and sold onc watch at 20% profit and another watch at

22.5% profit. Find cost price of cach of the watches il the difterence in sclling prices is Rs. 150,
Fqar OR

7f¥ 10% gz % 12 0% I A fiwa 50 798 § aF ¥ a7 s gew e od any o@ g1ft % Rerfg

If pen cost Rs. 50 after 10% discount, then find the marked price of pen. Also find profit or loss %.
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2x12 24

Mz () O vt b g R

2500

Answer any two questions,

fsdafien sfvwroit o) g Do sdte x g y w0 o frmafam
Solve the following system of equations and Nind values of x and y :

1 1 3

Wiy ey i
1 1 1
;E(Iixiy)ﬂ:!(:ix-—y)m_ﬁ

A e 13 8,000 e afe 2,000 Wk ¥ 7 s e o7 et | gfX A worerAt arfiee § dr g AT
W1 20% e R X, w3 vt & ohe e ey o ot 3oft 5 aeperre PP Frn e &) 7 g b
it A Y1 3,800 v wfire s YA § it qor wror o wrfi e R o e afed frarfar )
A und 13 started business with Re. 5,000 and Rs. 2,000, IF' A is working partncrs and takes 20% of
the 1otal profit as his salary and recciving profit is divided according to their capital. If in this
process A reccives Rs, 3,800 more than B then find the amount of total profit and profit %.

fPrufafR e € [pverse Matrix Method & gor $fan ;
Solve system of equutions by Inverse of Matrix Method !
Sx + 15y + 56 = 35
—Ax =11y =Mz = =26
~-x=3y=11z=-7.

unnmwmﬁimﬁmﬂahﬂ%us &3 w7 § Rt argreor s € %7 10% per annum T AT
1 § st srgf T X oy § o e o afdy Rerfig

‘I'he differcnee between simple intercst on certain sum at the rate of 10% per annum for 2 years and
the compound interest which is compounded half yearly is Rs. 124.05. Find the principal and
arnount,

e TR o iR Wl welm % 12,500 Y ¥ v way | Af Eet s 30% A aT A TR
uuftr 30% MR 7 & wf Aok d 3 9 wrw % 7 iR % wr fifirg

A ‘Television and Washing Machine was sold for Rs. 12,500 cach. If the Television was sold at gain
of 30% and Washing Machine al Joss of 30%, then find the overall profit % or loss % on the cnuire
trunsaction. .
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